FYH

NO-LocC.

NU R TE
RERIRA

TG 12
360° 15 EE
AETREITE B>

CATALOG NO.3401C

fyhbearings.com



FYH.
OniformLOC

FYH NU-LOCHIZEEIZ360° LAY BIR, BE Thesti. X
HESHRNNIKNEBNBERILTSE, MUPHRNIZRE
FNlnes, EELKTHERFH. NU-LOCRINBEHBEEERIR
fhliREEH, XA PIREMBIZENNARFDIR. NU-LOCR
SR ol A 5 LSR5 T iR A H i B R BE BT,

360°LOCKING
NU-LOCEILNBEH® RE—TAR/NA
R ITUEREHE., RELEE
RWREETEDENABL, i
fekgsd .

EHREeEBNEFSLLHWOT
1. BESI A fhleseih X oy —PiTE . 3. BEMRN, FEREEMRTER—SH
2. NU-LOCHIZOJDASEIR, Him/\BHAN &, BENU-LOCHIEFUCE A K/
BESCINBYIE E AR AIEE: . — 3,
4. ANEZNBIRFHRIUB PR,
ABREREE
4 R
120° Tz
\_ /
ST A




Pyl

SVAVZEL: 35 3
EB3L

AR
(SKAFERD) BHBMMLE

BLETER

MR IR K523

HRERAB (ZEE)

NU-LOCARIINMREEGHR, EFHE
SIMEBX M AN EERX,
NU-LOCHIZK, B S &3
BRORNTHEIAFIR/, FE G
AAZBIERE/NT 11, ERNRA
FXM, MBE—MRFHTEEZB

HAEE (IITVEE)

THENW, SSBEMRAHE.
X #
P18 PR EREHFNREBNRSEESTRARE, XIXHINGDEBDRS
AR HRIED,
P18 XEMABRTAZSHEREE (8fi: um)
’L\‘ﬁ’\’imdﬁ Rz B—EEFEFYIARRE B EETENETHE  NERZEBE
(mm) Admp Vap Kia
xF NFETF &K &/ RBX BX
- 10 +13 0 6 7
10 18 +13 0 6 8
18 31.75 +13 0 10 10
P 1 8 31.75 50.8 +15 0 10 10
50.8 80 +18 0 14 13
ISO #HEHBR-TAESHEREE (8460 um)
S 3 ’L\\ﬁ’\’iﬂidﬁmé B—ZETETYNERE B EETEANETHE  AEREEBE
(mm) Admp Vidp Kia
xF NFETF R®X =/ RBX X
- 10 +15 0 10 10
10 18 +15 0 10 15
18 31.75 +18 0 12 18
31.75 50.8 +21 0 14 20
50.8 80 +24 0 16 25
—RIERT. FYHNBRESHFAIRS (BIFYHITERS) N, WK
P11 seucirmisms, BPIS#ETR0T ILHRR, SHESES
HIEHBIR I FOIRRTE.
C2 | BROASEAMESIE. AIBBEIRNRZANSE. COARBLIRERR . TUEDE
RSN LR RIES,

fyhbearings.com



AL T
NCP

B+ (FROEEER) -t
d 20 ~ 60 mm

L
iz R st =R | AHm ER | ERME | FRE
mm mm BN | ARES | HRE HARES
d H L A J N N H: H. B: S ah HES ki
1 1 2 1 n g

20 333 127 38 95 13 18 13 64 325 127 445 M10 NCP204 P204 NC204 0.80

25 36.5 140 38 105 13 18 13 71 36.5 143 492 M10 NCP205 P205 NC205 1.0

30 429 165 48 121 17 21 15 84 39.7 159 556 M14 NCP206 P206 NC206 1.5

35 476 167 48 127 17 21 16 93 445 175 65.1 M14 NCP207 P207 NC207 1.9

40 49.2 184 54 137 17 21 17 98 50.8 19 68.3 M14 NCP208 P208 NC208 2.4

45 54 190 54 146 17 21 17 106 50.8 19 74.6 M14 NCP209 P209 NC209 2.6

50 57.2 206 60 159 20 22 19 113 53.1 19 85.7 M16 NCP210 P210 NC210 3.5

55 63.5 219 60 171 20 22 19 125 571 222 921 M16 NCP211 P211 NC211 4.0

60 69.8 241 70 184 20 25 22 138 66.7 25.4 104.8 M16 NCP212 P212 NC212 5.6

AL T 5

NCPA

B+ (FROEEER) B
d 20 ~ 50 mm LS.

il LA : il h
A Ll ong |
J
L
iz R b AR EH | ERMK | RE
mm mm ATREES | HRE |HATRES
a H L A J N H> Hs L1 Bi S [} kg

20 30.2 76 40 52 M10x1.5 60 13 27 325 12.7 445 | NCPA204 | PA204 NC204 0.73

25 36.5 84 45 56 M10x1.5 71 13 30 36.5 14.3 49.2 | NCPA205 | PA205 NC205 1.0

30 42.9 94 50 66 M14x2 84 18 36 39.7 15.9 55.6 | NCPA206 | PA206 NC206 1.4

35 47.6 110 55 80 M14x2 93 20 4 44.5 17.5 65.1 | NCPA207 | PA207 NC207 2.0

40 49.2 116 58 84 M14x2 100 20 4 50.8 19 68.3 | NCPA208 | PA208 NC208 2.4

45 54.2 120 60 90 M14x2 106 25 42 50.8 19 74.6 | NCPA209 | PA209 NC209 2.6

50 57.2 130 64 94 M16x2 113 25 47 53.1 19 85.7 | NCPA210 | PA210 NC210 3.4




7 T EE R

NCF B
E&N (FROEER) S
d 20 ~ 60 mm
o
i
diQ)dl
J,Jj
ez R <F RN | AN ER | ERM% | RE
mm mm B | AFRES | HRE | HATRES
RELS
d L A J N A1 Az Ao B1 S di MBS kg
20 86 255 64 12 11 15 348 325 127 445 | M10 | NCF204 | F204 | NC204 | 0.73
25 95 27 70 12 13 16 382 365 143 492 | M10 | NCF205 | F205 | NC205 | 1.0
30 108 31 83 12 13 18 418 397 159 556 | M10 | NCF206 | F206 | NC206 | 1.3
35 117 34 92 14 15 19 46 445 175 651 | M12 | NCF207 | F207 | NC207 | 1.8
40 130 36 102 16 15 21 528 508 19 68.3 | M14 | NCF208 | F208 | NC208 | 2.3
45 137 38 105 16 16 22 53.8 508 19 746 | M14 | NCF209 | F209 | NC209 | 26
50 143 40 111 16 16 22 561 531 19 857 | M14 | NCF210 | F210 | NC210 | 3.1
55 162 43 130 19 18 25 599 571 222 921 | Mi16 | NCF211 | F211 | NC211 | 3.8
60 175 48 143 19 18 29 703 667 254 1048 | M16 | NCF212 | F212 | NC212 | 4.9
T T FE R
NCFL
= s A
BE&N (FEOEER) B
d 20 ~ 60 mm S,
oj 2-ON
. (an\
od! od: LD D
I &ﬂ
Al J
| Az | H
A
iz R sF RIIE | AEM ER | ERMK | RE
mm mm B | ATRES | HURE | HATRES
RELS
d H L A J N Al A Ao B S 6 | RS kg

20 113 60 25.5 90 12 11 15 348 325 127 445 M10 | NCFL204 | FL204 NC204 0.62

25 130 68 27 99 16 13 16 382 365 143 492 M14 | NCFL205 | FL205 NC205 0.84

30 148 80 31 117 16 13 18 418 397 159 556 M14 | NCFL206 | FL206 NC206 1.1

35 161 90 34 130 16 14 19 46 445 175  65.1 M14 | NCFL207 | FL207 NC207 1.5

40 175 100 36 144 16 14 21 528 508 19 68.3 M14 | NCFL208 | FL208 NC208 2.0

45 188 108 38 148 19 15 22 53.8 508 19 74.6 | M16 | NCFL209 | FL209 NC209 2.3

50 197 115 40 157 19 15 22 56.1  53.1 19 85.7 M16 | NCFL210 | FL210 NC210 2.8

55 224 130 43 184 19 18 25 599 571 222 921 M16 | NCFL211 | FL211 NC211 3.7

60 250 140 48 202 23 18 29 70.3 66.7 254 104.8 M20 | NCFL212 | FL212 NC212 4.9

fyhbearings.com




i & B B % B,

NCFC =
BEH#3 (FROEELR)
d 20 ~ 60 mm ﬁ

1
OHs q:d | ods
1]

As
Az
LA |
Ay
iz R <f RIEHE | BB B | ERMK | RE
mm mm B2 | ARES | HERE |HARES
d L Hs J N N A1 Az Az Aq B1 S di HES kg

20 100 62 78 551 12 205 10 5 298 325 127 445| M10 | NCFC204 | FC204 | NC204 0.87

25 115 70 90 636 12 21 10 6 322 365 143 492 | M10 | NCFC205 | FC205 | NC205 1.2

30 125 80 100 707 12 23 10 8 338 39.7 159 556 | M10 | NCFC206 | FC206 | NC206 1.5

35 135 90 110 778 14 26 11 8 38 445 175 651 M12 | NCFC207 | FC207 NC207 2.0

40 145 100 120 848 14 26 11 10 428 508 19 68.3 | M12 | NCFC208 | FC208 NC208 2.4

45 160 105 132 933 16 26 10 12 418 508 19 746 | M14 | NCFC209 | FC209 NC209 3.0

50 165 110 138 976 16 28 10 12 444 531 19 85.7 | M14 | NCFC210 | FC210 NC210 3.5

55 185 125 150 106.1 19 31 13 12 479 571 222 9241 M16 | NCFC211 | FC211 NC211 4.6

60 195 135 160 1131 19 36 17 12 583 66.7 254 1048 | M16 | NCFC212 | FC212 NC212 5.7

o BT B R S
NCFB . )
B CEROEER)
-~ S
R 4 @)
‘ irii== W N
1 H>
= } b/J
1 Jf A 3-0N
Al ;
A L
A
s R K TEH | BFK | BA | GRRK | RE
o m B | RIS | WRE |maRDe
d | H L A 3 % N H H L A A A B S d |PES )
1 1 2 1 1 2 0 1 I g

20 110 62 24 32 27 95 42 52 52 13 135 33.3 325 127 445 M8 NCFB204 | FB204 NC204 0.78

25 116 68 26 34 27 95 45 52 56 13 15 372 36.5 143 49.2| M8 NCFB205 | FB205 | NC205 0.88

30 130 78 29 40 29 95 50 55 65 13 17 408 39.7 159 55.6| M8 NCFB206 | FB206 | NC206 1.1

35 144 90 33 46 32 95 55 62 70 15 19 46 445 175 65.1| M8 NCFB207 | FB207 NC207 1.6

40 164 100 34 50 41 11 60 72 78 16 20 51.8 50.8 19 68.3| M10 | NCFB208 | FB208 NC208 2.2

45 174 106 34 54 43 11 65 76 80 18 20 51.8 50.8 19 74.6| M10 | NCFB209 | FB209 | NC209 2.4

50 184 112 35 58 46 11 68 82 86 18 20 54.1 53.1 19 857 M10 | NCFB210 | FB210 NC210 2.9




i R EE R
NCT

B1
BRI (FROEER) S L
d 20 ~ 60 mm [,—ﬁ ,,,,,,, ,,,,,,
oo
d ; diHi H H I\E ‘N -
o HEHO)
Lo Ny
A1 F Ls
Az L
A
ez R <F AR EH | ERMK | RE
mm mm DNREE | HRE |pomBe
d A AL A H Hi  He L L1 L2 L3 N N1 N2 B S di kg
20 32 12 21 89 76 51 94 61 10 51 19 16 32 325 12.7 44.5| NCT204 T204 NC204 0.90
25 32 12 24 89 76 51 97 62 10 51 19 16 32 36.5 143 49.2| NCT205 T205 NC205 1.0
30 37 12 28 102 89 56 113 70 10 57 22 16 37 39.7 159 55.6| NCT206 T206 NC206 1.5
35 37 12 30 102 89 64 129 78 13 64 22 16 37 445 175 65.1| NCT207 T207 NC207 1.9
40 49 16 33 114 102 83 144 88 16 83 29 19 49 508 19 68.3| NCT208 T208 NC208 2.9
45 49 16 35 117 102 83 144 87 16 83 29 19 49 508 19 74.6| NCT209 T209 NC209 2.8
50 49 16 37 117 102 83 149 90 16 86 29 19 49 531 19 85.7 | NCT210 T210 NC210 3.2
55 64 22 38 146 130 102 171 106 19 95 35 25 64 571 222 92.1| NCT211 T211 NC211 4.4
60 64 22 42 146 130 102 194 119 19 102 35 32 64 66.7 25.4 104.8| NCT212 T212 NC212 5.6
A {4 A Bk Hh R
NC
WAL (HFALEER) 5,
d 20 ~ 60 mm o
i
e
st |
oD od ods
| |
iz FERS EREE T E iR &R R R <F 125TH | (B%8)
mm mm kN AREE | EBEER mm ARBS | FE
d D B: C r Cr Cor fo Ca S S3 di kg
20 47 32.5 16 1 12.8 6.65 13.2 NC204 UCL204B 4 12.7 19.8 445 M4x0.7 0.30
25 52 36.5 17 1 14.0 7.85 13.9 NC205 UCL205A 5 14.3 22.2 49.2 M4x0.7 0.40
30 62 39.7 19 1 19.5 11.3 13.9 NC206 | UCL206A | 5 159 238 55.6 | M4x0.7 0.50
35 72 445 20 1.1 25.7 15.4 13.9 NC207 UCL207B 5.5 17.5 27 65.1 M5x0.8 0.80
40 80 50.8 21 1.1 29.1 17.8 14.0 NC208 UCL208A 6 19 31.8 68.3 M5x0.8 1.0
45 85 50.8 22 1.1 34.1 21.3 14.0 NC209 | UCL209B | 6 19 31.8 74.6 | M5x0.8 1.1
50 90 53.1 24 1.1 35.1 23.3 14.4 NC210 UCL210A 6 19 34.1 85.7 M6x1 1.4
55 100 571 25 1.5 43.4 29.4 14.4 NC211 uCL211B 7 22.2 34.9 92.1 M6x1 1.5
60 110 66.7 27 1.5 52.4 36.2 14.4 NC212 ucL212B 7.5 25.4 41.3 104.8 M8x1.25 2.2

fyhbearings.com



NCRL.OE iRt SR {58

EBRRD
EE%

UCL204B
UCL205A
UCL206A

UCL207B
UCL208A 10.2-11.2
UCL209B

17.6-19.4

NC212 | UCL212B | M8x1.25 | 41.6-46.0

B AR EA KA S

[SUNS|
T587-0022 BAXRBXRAFRHERXFER 2306
TEL:072-361-3750 072-361-3752(& M) FAX:072-361-4173

RRNIE
T140-0012 BABRHERHBR)IZMS 1-3-49 TAMSKE 5 #2
TEL:03-5767-7270 FAX:03-5767-7280

BEENE

T456-0052 BABDEHNESEEHABER-EF 212
TEL:052-652-1211  FAX:052-652-0744

AIRBWFT TEL:011-241-3896 FAX:011-241-3897
FUNEWEF TEL:092-626-5500 FAX:092-626-5506
TEEWFF TEL:084-921-1710 FAX:084-923-2407

201010 fyhbearings.com



HEAVY DUTY UNITS
with Eccentric Locking Collars

F NO.3000B FYH BEARING UNITS USAI INC' fyhbearings.com



NAP3E
Cylindrical bore

B

FYH

(with eccentric locking collar) ]
d 1316 ~ 2 %6 inch Ny
;
i
od | H,
| MR
H
‘ T :
EAR
A
Shaft Dia. Dimensions Bolt Unit Housing | Bearing | Mass
inch inch Size No. No. No.
mom inch
d H L A J N N1 H; H L1 B: S mm kg
175 73 13/ 51/ 21/37 25/39 %6 3%/ 233 1.969 0.689 /2
3 _ -
e | 476 180 50 140 17 20 146 926 53 50 175 | m14 |VAPSOG-19E) P306E | NA306-19 | 23
25 8% 27/n 6% 2/ 31/32 2/3p 41 2%es 2.031 0.720 /2
7 o !
Vhe | 54 210 56 160 17 25 17 105 65 516 183 | m14 | VAPS0723E) P307E | NAS0723 | 31
23 82/ 235 6w 2/ 11 3/4 4273 2% 2248 0.780 /2
1 u .
1 60.3 220 60 170 17 27 19.3 118.3 65 571 19.8 M14 RAaE FeotE NA308-24 41
25/ 92/ 25 TWs Bl 1% e 531, 21 2311  0.780 5/8
" - -
s 66.7 245 67 190 20 30 20.7 1317 75 58.7 19.8 M16 D i PO NA309-27 51
26 101316 2%/16 81/  2/3 138 Ble 51/ 3/ 2.622 0.969 5/s
15 - -
19 | 4 o715 75 212 20 35 204 1444 88 666 246 | Mip | VAPS10-31E) PS10E | NA3IO31 7
36 12732 35 9% B/ 11 3130 61 31/ 2874 1.094 5/8
3 - -
2% | 778 310 80 236 20 38 248 1558 90 73 278 | mig | VAPSTI-3SE| PSTIE | NASTI-35 | 8.5
3516 13 315 923 Sl 1. 133 61/ 41 3126 1.220 3/4
7 = .
24 84.1 330 85 250 25 38 281  166.1 103 79.4 31 M20 DR POl NA312-39 | 10.1
386 14316 31/ 1112 116 1%e 1716 7%/ 41/ 3626 1.343 I3
" - -
= 96.8 360 90 280 27 40 36.8 1878 110 921 341 M22 i 314 NA314-43 | 138
41 14313 3/16 111/ 1716 12/ 1% 732 47/ 3.937 1.469 [s
15 - -
D 104.8 380 100 290 27 44 39.8 2028 107 100 37.3 M22 e o5 NA315-47 | 16.8
Remark A-1/4-28UNF............ 306~308
APTIB.ciis 309~315 Drop in replacements for RAO units and GN inserts.
NA3 -
Cylindrical bore ol s )
(with eccentric locking collar) @ ” 1 .
d 1316 ~ 2 /16 inch , 2
.S |
SoDod od1
|
Shaft Dia Dimensions Basic Factor Bearing Dimensions Set Screw | Mass
inch inch Load Ratings No. inch Brg.Bore
mm kN mm
r .
d D B B: C (min.) Cr Cor fo Ca S Sz d1 inch kg
2835 1437 1969 0945 0.043 0.256 0.689 0.268 1.937
3 . :
13/16 79 365 50 24 11 26.7 15.0 13.3 NA306-19 65 175 6.8 499 5/16-24UNF | 0.66
3.150 1500 2.031 1.024 0.059 0295 0.720 0.268 2.185
7 H .
17/ 80 38 1 516 2% 15 33.4 19.3 13.2 NA307-23 75 183 6.8 555 5/16-24UNF | 0.81
3543 1.626 2.248 1.102 0.059 0.315 0.780 0.315 2.500
1 o -
11/2 90 413 571 28 15 40.7 24.0 13.2 NA308-24 8 198 8 635 3/8-24UNF 1.19
3937 1689 2311 1181 0.059 0335 0.780 0.315 2.748
1 H -
1116 100 429 58.7 30 15 48.9 29.5 13.3 NA309-27 85 198 8 69,8 3/8-24UNF 1.47
4331 1.937 2622 1260 0.079 0.354 0.969 0.343 3.000
15 - B
11516 110 499 66.6 32 9 62.0 38.3 13.2 NA310-31 9 246 8.7 76.2 3/8-24UNF 1.95
4724 2189 2874 1339 0.079 0.394 1.094 0.343 3.248
8] o -
2316 120 556 73 34 9 71.6 45.0 13.2 NA311-35 10 978 8.7 825 3/8-24UNF 2.2
5118 2437 3126 1.417 0.083 0453 1.220 0.343 3.500
7 | .
2716 130 619 794 36 91 81.9 52.2 13.2 NA312-39 15 31 8.7 88.9 3/8-24UNF 3
5906 2.689 3.626 1.575 0.083 0.492 1.343 0.469 4.000
11 - :
2 /6 150 68.3 92 1 40 91 104 68.2 13.2 NA314-43 125 34 1 19 1016 1/2-20UNF 4.7
6.299 2937 3.937 1654 0.083 0571 1.469 0500 4.437
15 - B
2 15/15 160 746 100 42 91 113 77.2 13.2 NA315-47 145 373 127 1127 5/8-18UNF 5.8

FYH BEARING UNITS USA, INC. TEL:847-487-9111 FAX:847-487-9222 E-mail:sales@fyhusa.com

2010.07



i FE§ 6 22 71k 7 40 14

- RBIERAY

FNO.3014 B ARKMFA G R 24



EFEEMEIEER FYH MEMARIIHMAAGAERESMRTRAGATHERE, FEREHPERS
HANTHEE R MHAAHE . RFRHZRIIENT HUIMENRRRIEBIE, E2HERRERAE,

S6 ramm=

ISEINE TEEMW (FHEF SUS 440C)
$MEK SUS440C
RiF25 SUS304
= H1MERI B mEIEEE (NSF)
BREE NBR
Bz SUS304
1EFhREK SUS304
1EZh8R4T SUS304
PIEBiHERR c3
HIERS UC201X~UC212

57 I RISMNE SUJ2+ (FBEESE+iREAERIEILIE)

= HER SuJ2
W RH5% RERRS (2H)

B HTINER & RKiEiERE (NSF)
BHE NBR
Brdas SPCC+ (FEEESE+HREREMAEILEE)
1EZhERER SUS304
LEZhI24T SCM435+ (FEEESE+IREREEEILIR)
RIEBERR C3
HIERS 204~212

VP VIF VIFL [H1T Z5
PBT %8 43}4 7K 2 AN S AR JEE SR R

PV PBT 8} BEHEY (2T SUS3040r316) HHEHER
REE SUS304
bR i |43 SUS304
H|(ERIS 204~208 203~212 (4RFZEMARE) 204~212

FERE
AR IIRE
HF &BEAEMMTIRE
BRRE
EH

HBERE (72/08) ERUHMRRERE T B0 T vy A P R LA B L 75 ) 7E 4 {4 TR T HE AR

BARKRMFRAHFHRN St
[0 587-0022 HAEKRAD mEEXEE 2306
TEL: 072-361-3752 FAX:072-361-4173

2010.10




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Arial-Black
    /Arial-BlackItalic
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /Batang
    /BatangChe
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /ComicSansMS
    /ComicSansMS-Bold
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Dotum
    /DotumChe
    /EstrangeloEdessa
    /FangSong_GB2312
    /FranklinGothic-Medium
    /FranklinGothic-MediumItalic
    /FZDHTK--GBK1-0
    /FZNSTFW--GB1-0
    /FZSTK--GBK1-0
    /FZYTK--GBK1-0
    /Garamond
    /Garamond-Bold
    /Garamond-Italic
    /Gautami
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Gulim
    /GulimChe
    /Gungsuh
    /GungsuhChe
    /Haettenschweiler
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /Helvetica-Condensed
    /Helvetica-Condensed-Bold
    /Helvetica-Condensed-BoldObl
    /Helvetica-Condensed-Oblique
    /Helvetica-Narrow
    /Helvetica-Narrow-Bold
    /Helvetica-Narrow-BoldOblique
    /Helvetica-Narrow-Oblique
    /Helvetica-Oblique
    /HelvLight-Normal
    /HG-Hagoromo-B
    /HG-sekireisyotai
    /HG-Soueikakupoptai
    /HYa1gj
    /HYa3gf
    /HYa3gj
    /HYa4gj
    /HYa6gj
    /HYa9gj
    /HYb1gf
    /HYb1gj
    /HYb2gf
    /HYb2gj
    /HYb9gj
    /HYe3gj
    /HYg1gj
    /HYg2gj
    /HYk1gj
    /Impact
    /KaiTi_GB2312
    /Kartika
    /Latha
    /LiSu
    /LucidaConsole
    /LucidaSans
    /LucidaSans-Demi
    /LucidaSans-DemiItalic
    /LucidaSans-Italic
    /LucidaSansUnicode
    /Mangal-Regular
    /MicrosoftSansSerif
    /MingLiU
    /MonotypeCorsiva
    /MS-Gothic
    /MS-Mincho
    /MSOutlook
    /MS-PGothic
    /MS-PMincho
    /MS-UIGothic
    /MVBoli
    /NSimSun
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /PMingLiU
    /Raavi
    /Ricoh-HG-Gothic-Extra-Bold
    /Ricoh-HG-Round-Gothic-Medium
    /Ricoh-HG-seikaishotai
    /Shruti
    /SimHei
    /SimSun
    /STCaiyun
    /STXihei
    /STXingkai
    /STXinwei
    /STZhongsong
    /Sylfaen
    /SymbolMT
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Tunga-Regular
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /Vrinda
    /Webdings
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /YouYuan
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 350
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 350
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




